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The i-v graph of the nonlinear circuit element is shown in the figure above. Assuming
W0)=0V:
s—
{a) Find the equilibrinm points and sketch the dynamic route.
(b)) Sketch it) and w1}, make sure to mark the switching times on the graphis).
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The i-v graph of the nonlinear circuit element is shown in the figure above. Assuming
- L 10} = 0.5 mA:
(39,40 e N L2) 2 SN
. i 5 (r:} Find the equilibrium points and sketch the dyvnamic route.
VL9 J\.I 2 (d) Sketch 1(t) and v(t)., make sure to mark the switching times on the graph(s).
{Hint: for the unstable part, think carefully about the final values of i and v).
You should look over the flip-flop example from Lecture 20 on the EE100 homepage.
MAKE SURE YOU UNDERSTAND THIS PROBLEM FOR THE MIDTERM! Of
course. you could surf hitp:/hkn.eecs.berkelev.edu/student/onlineexains. shtml for online Lo
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